82 E R A b LB BORFHE RS [16650101] b7y b W e bl A
R BRSO T e Sov HiRgdLe BB [221010] A i
2016/05/13 ~ 2016/05/15 W I AESLEE AR
K R s B
ol S fish —H-4 B HEH
EL: fHH 17 27 3T 47 5 6h7 2 8hr
5A 14 i 5 100m wfE JETREG) 1049/t fiEe(4) 10.79°'FH B C(4) 10811 A A(M2) 10.83 kA 24 (1) 10.88[ 13 fE(3) 10.90[/MIT $AE(3) 10.91[ (i HEFE() 11.02
A 1.0 T EEKR = #E-PEk EA G PN s LUK TP = 09N e[t » ) R i i) - R T B
SA15A A53-200m TR 2LAT/NI H0EH3) 2163 [JITF 1) 21.85| ik RAHE3) 21.90| ik BE(D) 22.01| K () 22.03 1A F(4) 22.15fill 22.66
JE 2.1 L PN B D - HER = #-PEK P RL PN - AR T -FHK b 853N - BHOR
SA14R g F400m H Z2k3) 47.89|H2 S KMIM2) 48.91 (L1 F(3) 49.08| AT BE(4) 49.21|AHAIL 775(1) 49.79|FR M TFE@4) 50.14 | wHEAER(L) 50.34 | BFAf —Hifi(2) 2:04.35
I B e R e B e B B - BHK F A TKR S L/ PN F Al EK K BRI AL WN
54150 AT 7800m iEF AeH(4) 1:50.59 [ f&5(3) 1:52.65 [ FL)I1 1 IE(4) 1:53.23[ A7 1 FaEi(3) 1:53.68 |2 SCE(4) 1:54.28| Wb ik (3) 1:54.38[ (L #FKOB) 1:54.62|9ft 415 (4) 2:01.13
It B - IR R CENUEL PN T H-FER I B~ IR I B4 TR B 4R RN PN I B - IR
SH13E B T1500m JI3E (D 4:04.93[ )2 SCE@) 1:01.93[ LA 1) 4:05.08[3  SEHH(3) 1:05.36[ [ FLRA(2) 4:05.72[BEZ i A(4) 1:05.96[8 1 Ph3) 4:06.27 [ HHG) 4:07.65
T - R I B4R = H-BEER I B+ IR - AR I B - IR B ] - 5 K - B
5A 150 % T-5000m 2 H—4) 14:41.04(F0%E  S2HE(4) 14:47.28 (R #dhi(4) 14:49.76 A FE(D1) 14:52.04#2H B&1H(3) 14:53.57( - BFEEH2) 14:57.00{ 11 K Hh(2) 15:04.20|#A/L B3 7E(2) 15:08.05
It B - IRGHR R = #E-CEK = HAHEK T4l EK T AM-FTR I B - IR G- BEEEA [ 3N
SA13A 4 $10000m KIE IEIE(4) 30:22.95[ [ HEH(3) 30:26.77|ZH FH—4) 30:40.29 /i At (4) 30:52.12[E W] FLAMID) 31:10.56 [l 2H(4) 31:14.34 4 HEIR(3) 31:37.81|#13% fd(1) 31:44.79
It B - IRGHR R Bl - 5L ELEE R I B - I R I R - IR K B i - 4 R R = #E-ZHK P IR et i I = H-REMER
satsE| —EFLomH@T [ILA HER() 14.50(f 1 —4) 14.66 | &2 FK(3) 14.86 |k HErk(2) 14.94[5% % 5F(3) 14.96 |4 ST (3) 14.99/5 W 2 (3) 15.19| 7 HH(4) 15.24
o R 2.5 LN PSRN PSRN T -BHK I B IR K = EBER B 4R B ] - HHER
sAH| —t pa0omi©.01am | @) 51.29| L EHi(4) 52.09[/NH FR(3) 52.28 4P fk(3) 52.97 KAt FER(Q2) 53.38| e R0 53.97| KA HE&@3) 54.42{ A FHh(4) 54.64
) - P EUR = H-REEHR E H-4hER T H-EER N N T -BER P L PN = HOERES
5150|429 7 3000mSC0.914m) |HEE FEAL(D 9:23.76 KA FukE(3) 9:24.07 [ H 5 A(4) 9:30.75[kabk K E(3) 9:32.84 )11 W 5(1) 9:36. 14| #A-(ML) 9:36.89| HFL A&HB(1) 9:37.94| 4l #E(S1) 9:39.83
) T H-ETR I B I K S L PN R B Jn- R R B ] - R K I B BEAE R = H-SEE
5140 T T10000mW PNEEERC) 43:25.00 ([l H - K (4) 43:32.48 [FBIE KEX(3) 46:00.63[FIH  EH(3) 46:33.37 12k Fih(2) 4T:3L3L[PTH KI(3) 48:34.53[JF M R (2) 48:43.58 [ bk KB (1) 49:11.36
= E-PEk = HE- PR = E-EHK i [t » i R B AmK FJ- R = H-SEER = H- BB
[ PN=21 40.10| B HE R 40.76 | il K7 40.83 | BHIBE KT 40.91|FHERF 4117 | AR5 R 41.45 | RO R K 41.58| AP BER Y 41.70
Fk Q) B ik (3) IS A Hh(4) AFF HA(2) SR AA(3) AR FH4) A k() KH #(©)
5A14H —MEFaxioomR WS RA(3) SR fE4) JISE 22 AM2) B FHREB) ANIIREZE 26 TR (1) HPUE  R5(2) ENE el O]
L (1) HEAEER) EEEi: (G)] B 2@ A FEsHQ2) A A1) VAR SoF@2) HOKH3)
JIAE FEEQ) OHig @ R BROML) AR #AR) )1l BE4) A B E(©2) S35 C)) B B
h R 3:13.33 I8 Bk 55 K% 3:14.55| B RIHE KT 3:14.86[ 4 H R K 3:15.40|#HER S 3:19.79| F A K2 3:19.91[ &k K2 3:20.94]4 HR TERY: 3:21.02
e Z3) ARFH FIE3) Wi E2) B SRR (3) A AL R AfE(4) BR[ AKEE(3) FEP & (4)
5H15H A Taxa00mR (AT 15(1) Al ) il H#(3) B AA3) A FA(3) g A (1) G EA(2) BRI FH©2)
AN ) I AR (2) K H(2) FH EEWQ B E—RR(2) g HE) it Q) FE ATEEQ2)
AN O) il I B 2@ AN:IREPNE) =) B FRQ) = NG N C)) PR BG4
R —(3) 2ml6[énA HEE (D) om12[EFR HE—(2) 2m08 KA H(2) 2m08 K7 FEBA(M1) 2mO8 |k fH2) 2m04 | Fi(5) 2m04
5A15H -, RPN PoRRSIEECSEPN fa [ - Hp R - HECR T EHOR = H-REHR B Jn- B
Kt ) 2m08
T H-EBHK
5A 14 - AR BEE4) 5m20 (= H - #(4) 5mO0 [ PUEEA Z£#(3) Am50 | &1L AR A(3) 4m50
- HPEUR - HECR i B IR N TS PN
5A13H T NALE BA©2)  Tm58(+2.5)[88AK FEHL(4) Tm57(+2.7)| B Iy B H.(3) Tm50(+2.6) [tk A Hh(2) Tm46(+4.0)|FM1 KFH(2) Tm39(+2.0)| g SEwIM2)  Tm38(+0.2)[BA HHK®B) Tm22(+0.9) 3T AE Mk (2) 7m16(-0.5)
AL - IR aRTm3s0.0)[ % A PEIK aRm3a0.0)| K BFe AR ARmIe)|E M- EA ARG | JbiEE - IR K RO R DR PN B RO
54 14K P WIE KFR)  15m52G+1.8)[ il BE(4)  15ma4(+1.2)| 3K FIh(5)  15m11(-0.6)|fkE ¥EF2) 15m11(-0.9)|FFHT Hith(3)  14m91(+0.3)[FZ A BPE4)  14m90(0.0)| Mk ELA(2)  14m80(-0.2)| i Yewl(M2) 14m71(+1.1)
= = BB R Bpepick = H-SEEE A PR &L IR R AU PR i [ - H R T H-EHK
SAI5H| A PR 2eoke | L #(2) 16m03| % BIA(D) 14m82| 1| [EHiE(2) 14m81| Y 5LIA(3) 14m70|HA PEA(4) 14m39|#k F#EEG) 13m38|FAJ2  ELER(ML) 13m26 | FAFt Znik(2) 13m07
i 5 - H R = SRR CESL PN b 853N = H-atk I+ g R T BHOR = H-EEEER
[ e R 48m31 |1 3 (3) 46m89| W2 FEH(2) 43m25 |k FH 72 81(3) 42m56|TEK JHk(4) 41m7L[ )1 IEHE2) 40m39 [ Hifi(2) 38m60|i)Il FArik(4) 38m10
) AU AR A = G SN IR T IEEER = - fK I B e HPETR T AR P IE PN
san|  CEBTov~—g R [EfC(4) 66m55 | H K iE(4) 63m20 [HUl FHOKQ) 59m59 | 2 (2) 58m88 (4 H - Hhi(4) 52m83 [ AT E&Q) 48m69 |11 | FHE(2) 4Tm76 (0 SER() 47m24
(7.260ke) = R [R5 = R R RN = H-BEBER T AR - IR = BB
SA 14 AT F-ODHE008) KB fh5k(2) TIm70|BEHL 35(3) 70mO8 [F B FE3) 69m89[ = [ {i(4) 67m95 | HEN 1 (1) 67m57 [k I FHh(4) 61m10[F)1 A1) 60m93 (74 FEHh(3) 60m85
0 AT PN T EEAEKR Iy - IR R (I 2L 5PN Pl L PN - EER Iy B - IR W B4 ER
Jril Fn3) 70265 |z A N(2) 664458 [ILA HE(3) 64345 |FaFT FEAL(3) 59435 (85K 1H(3) 49345 [ R BRI (2) 4558 4 [T E(M2) 4281 4,
55140 P — HGINITEES PN = - REBHR Bl SR ON = E-HRR T EEAER T B = H-ZEA
~15H - 11.25(+0.9)-6m69(+1.1)-12m82-1m86-51.61 | 10.93(+0.9)-Tm02(+1.0)-11m62-1m92-49.24 | 11.64(+0.9)-6m60(+1.9)- 1 1m45-1m80-53.51 | 11.12(+0.9)-6m80(+0.2)-11m36-1m83-51.40 | 11.39(+0.9)-6m42(0.0)-Tm9I8- 1m65-52.35 11.96(+0.9)-5m86(+0.4)-8m15-1m80-56.06 |12.47(+0.9)-5m82(+1.9)-8m74-NM-56.39
15.61(-0.2)-34m48-4m40-58m63-4:49.19 | 14.80(-0.2)-33m62-NM-53m84-4:32.20 | 16.85(-0.2)-35m01-4m00-53m25-4:41.20 | 15.40(-0.2)-33m48-NM-42m80-5:01.31 | 17.25(-0.2)-19m44-NM-32m59-4:36.18 | 16.16(-0.2)-22m46-NM-31m44-5:23.77 | 18.12(-0.2)-24m71-2m80-42m46-5:00.78
BIrTvs FwN 116 53 | I R 8251 |4t ER 4553 | B ELE R 3253 [ BAK 3253 [FEEAER 26 53 [ K 2453 IR 1845
P B 7 4—IE [D5UN 116.5,5 [ 634 | B FAE AR 265 | B ELAE R 235 | BHOR 15.5.43 | I B R LR | $h i 6.4 |4 AR K 6.5
IR (0N 195 | B ELAE R [ ESES PN [ EESN 25
BIRE FLPN 251.5 3 [IBE R 14551 | B EAER 6253 | FAER R BN oN TR EESN 47.5 5| wRRA R 2453 IR 215




S22 Mg A B LB BOR FHE RS [16650101] by A W ey R
NOERERZ DT b o< EfEdbke F#EEE [221010] gi&%% . 'fﬁ%g[lrﬂf
2016/05/13 ~ 2016/05/15 W I AESLEE AR
K R s B
ol S fish —H-A4 B HEH
5A 14 4 -100m i fERRMLD) 12.19|#211 E#HEG) 12.21|fE 33M1) 12.28|/NL ZRHE(3) 12.42|FRIR RECERAE(4) 12.51 R W/L(3) 12.59|0HiE F1H(©2) 12.67| (i BEEL(3) 12.68
A 1.2 PNk O LN ML AP IR = HE-EREK T - FHK RSN F - AR
5A 150 “f 4§-200m R AE(4) 20.TTIPIH FA3) 24.92| 9 {ERk(M1) 25,190t FEMI) 25.48[FAZ HRIR(1) 25.67[B L BEIT(3) 25.79 17501 25.85[IH H3E() 26.10
A28 T - BRI PN NIt ON SN T - FHK T -FHK A MION B ] - HER
5H14A i e 7-400m BRI AR ) 55.02[ X B KEQ) 56.64 (k2 A FRHR(D) 56.70| %k HH(2) 57.411 ik JH+-(2) 58.28|8F AKFE(3) 58.93|ifElF i (4) 59.31[&H F10B) 1:00.08
% %u~£‘%ﬁﬁt GR[if [ - HHER % 5% iﬁﬁt N A DN I R - IR K B D - EHER B ] - B K T -FHK
SH15H 4 7500m i &) 2:12. 11| di7-(1) 2:16.72[ 4 2:17.59|F I 7 (4) 2:17.66|fEA HZ(4) 2:19.76|(H 7% fiE1(4) 2:20.75| R ELA(3) 2:23.08|#nA H(1) 2:25.01
PR wiN N S N FH-BHK I - AR I B PR B 4K = - EEER
sH13A Ak F1500m EE TR0 4:24.14|FAR Fu@) 4:33.@0 4:36.29|F 1 HHEQR) 4:39.89| L5 WAHL2) 4:40.81 | FHEEM2) 4:41. 19378 W -37(3) 4:43.16( 11 B2 52(4) 4:44.71
PP wiN I B~ A3 I B~ A4 3R I B~ SRR FH-BHK £ B rh,w\%ﬁ F Jn-HEilkR
544K A 5000m AR HERIQ2) 16:42.54|Fdk 22A7%(2)  16:43.61]f 7< 16:54.19(f20 REUDIN()  17:32.44|F 8 HEL) 17:34.17 (R TFk(4) 17:40.85| i1 A252(0) 17:41.37 LJ_I!II FERE(2) 17:42.34
Bl - 44 R & B4R P RL PN I B K T -FHK F Jn-HilkoR = #E-Z#HK
5150 i £ 10000m R LHEER) 33:43.99 75k (1) 33:53.13[% %; gmx(@ 34:34.69[F AL 1 /5(3) 35:36.45| A EHAEG) 35:57.55 IR THEK(4) 36:38.32[ )11 230 A(4) 37:49.52[ =% WIHE®G) 38:21.53
) - IR i AWK £ B4R Pl RL PN Pl RL PN T - FHK T -FHK B ] - P OR
sAsH| Kk FL00mHO.838m) IR BHER) 14.12{/hk #%7F(2) 14.20( i EHRQ) 14.69| N 13572(2) 14.72|Kkn H1ZR2) 14.76| KA #h3x4) 15.14 15.33[ 7k WLRE(2) 15.54
& :2.0 T - BRI T -FHK LN Pl EC PN NI L ON P RLIWN Pl L PN B [ - HER
SA50 | ke F400mH0.762m) b8y AH3) 1:01.57 [ILiA JFRII(3) 1:03.16 [0 AR #AFE®R) 1:04.06 [N L 13572(2) 1:05.22[ 1Lt 4 A &) 1:05.50| 5 H #%(2) 1:05.54 | BLEF  #3(3) 1:06.36 [ [LigF FHAES) 1:09.43
) - BHK - PECR fii N LORNG PN - AR B Fn-tBIlI R T - B = H-BPEK TSR
57157 | itk 73000msC(0.762m) | 1L FTRT@ 10:24.62| it YERD(2) 11:14.23| 778 5ef5(3) 11:15.59| k4 EAEQR) 11:34.22| A #r3) 11:42.81|HRZH T (2) 11:49.61[FF TEKQ) 11:57.06[#5A fhHEEMIL) 11:59.33
) ) AR GR|%E Jn-Hsk P SILLL PN = H-PaR [N Rk L - AR I B PR T - FHK
5A13H A T10000mW Tk &RQ) 47:49.38([@ M ZE(2) 49:26.22| A F£7204) 51:07.43[F5)11 F3EQ) 51:49.10 EH 3461 53:15.96 P #F H(2) 58:11.14[ K% % (1) 1:00:20.83 K (2) 1:03:30.49
I B e R A S ON i [ - R KPRtk 5 JE-ERER I B AR = H-BPER = E-BPER
PR 46.19 |3 A K 46.80 | ZHIBE KF 47.31 | B AR R 4745 HHERF: 47.96 |l 48 55K 48.14 [ L EH KT 48.72 | Rl K 49.62
GR{# L Fa(4) INBEJRRIPL(4) FRH BFE2) A W) JKEF (1) A EHAHR(3) P RHTH)
5A14H — A F-4X100mR g HrEER) MRk i BEEL3) HH H3EE) AN ZRHE(3) ity #ERE() LAIES16))
R ) INBR YR AR (2) KV THEG) AR ML) ZH Y WIE Hde (1) AN AL 9 (4)
P BRI e f#h2) AR BARA) OHEE mf2) —H {EHG) IS5 0)) Ok W) HEEP 4
&%u%mf% 3:48.32| EFHE R 3:49.40 | TR 3:51.81 | i K= 4:03.78 [ #8111 o K 4:04.40 | BB R 4:05.37 | IR KT 4:06.77 | i Y 7R 4:16.45
kML) 2B W&EQ) G &1 IANEES{6)] 3% BLH1-(3) S AAE(4) K THE) WD L)
5A15H —fEraxaoomR | AEEF ATHA(3) P HR(1) ZE bH(2) W ) KB HiR2) ity #ERE() AT AHZEEG) IR BLAEQ2)
) ) 2H REG9 b FETQ) A Q) it 4 HE) gnA HE() i %) JIIE HHT©)
A PR ML (4) EH R /N 44 R(4) it Ha3%(4) GEAE A ) FRH BFE(2) SFBR#iAe(3)
ik Fifc(4) 1m72| L ZE®B) 1m66|FH Jex(2) 1m63 A PHZ@) 1m60|J5 AHF(3) Imb5 [ e 3E(2) 1m55 [kl A7’ (4) 1m50
5148 A = HBHK e i)« i F I BREEER KPR BERER FOM-BMK = H-REHR F I H R
" " = REIEG) Im63
N
SA 141 - FHE A EAAEM2) 3m60 (4R AH(2) 3mb0| I () 3md0 4211 HEFIZR(1) 3m30|iR A HEM4) 3m00 | 53F] FLri(2) 3mO0 (7N SREL(2) 3m00
A G AP TPN - HECR el QL ON Iy - IR = H-EEER Iy R+l R B - B
5A13H - Fhk WA 6m03(+0.9)[WEIF MEIR(4) 5m75(0.0)| A () Bm7AGLD[HA D@ 5m72+0.D[HE FEH(B)  5m66(+1.0)[#5AK AEM)  5mbI0.4)[ R SX(1) 5m58(+1.8)[/hSF SEWL(4)  5m56(-0.2)
i [ - st T H-EBHK - HECR I R BREOR ]2 SN i [ - AR R 053 PN I B« 44O
sH 150 B ANSE L@ 12m40G+2.8)[ il R EER)  12m21(+0.9) | MERER) 11m93(+2.3)[KGE FEM2) 1m77(+2.9)[IREF F1(1) 11m70G5.0)[8 A 1H%EM4)  11m64(+2.5)[2FH ZHE(4) 11m58(+0.9)[II¥E @) 11m24(+2.9)
B I B ZIRK AR1m206 10| 3% - B I B SRUEER ARIme1.0| = 8K asmiEn L Bl aRlmae18)| % B AL = FPRIK = @ BEMEA ARIIN2(GL5)
[N T U O] 12m52| i 44 90(2) 11m78|#E L 2=iH(1) Um77 |V E+(1) Hm74[HLl ZE®G) m73| Vel B 1m61 R #x3E1(1) 10m72|IIF ZEEM) 10m43
i P AL P/N T H-BHK - B - EEAER T - B i [ - iR IR e N = H-CEA
SH13H| itk T MAEEKL000ke) IIESEE0) 45m13[ ) #2311 39m80 | ALl HE®B) 39m80| & HF #(2) 3Tm76 (kL 2=i(1) 33mO02 |+ H(2) 32md2|WB)I A E) 31mA3 |15 Ay TE@) 29m22
i & BePaR B R T EEEEKR NN T - B IR PN B - B F F-fElkR
saup| EEEorv—g RAMR Q) 52m28[H 11 ##(3) 51m78[#A #E7-(1) 45m36 |k (1) 42m42 [ RUyTE@) 42m36 | AfRH F=5(2) 37m31 KB HEFEQ) 35m4 1| F 4 R(2) 31m56
(4.000kg) T - HECR SR PN N TSN T - B F -l R T AR B - B T H-BHK
5H 14H e 7RV E600g) My {23£(4) 52m32|HE; ER(4) 51ml7|HH A (®3) 49m74 | 5EJ5(1) 48m19[ )1 En#R@4) 46m87[FEM FEQ) 46m05 [ BLAT B (1) 43m86|ZH IT(2) 42m84
ARZR 1 - PR P SLWN (SRR RPN I B - BREOR = H-ERER B - B B - BEEER I B+ IR
KHET 4@ 482451 [F-F HEE4) 452058 [0 &0 (1) 4465 5 Bk HE3E(2) 4427 5| K78 FA3(3) 407048 H FEH@) 402455 [P FF AEQ) 39125 H PHZ@) 30935,
5A14H P 3 S ION 3R ON = R R IEC 5PN & OEARER T EHOR T EHOR KO- EHER
~15H 14.59(+1.5)-1m53-9m80-26.75(-1.6) [15.56(+1.5)-1m44-10m58-26.71(~1.6) [15.41(+1.5)-1m50-8m79-26.58(-1.6) [15.96(+1.5)-1m50~11m22-27.44(-1.6) [15.97(+2.3)-1m44-10m65-29.18(-4.7) [15.90(+2.3)-1m50-9m69-28.40(-4.7) [17.51(+2.3)-1m41-11m71-28.18(-4.7) [20.02(+1.5)-1m56-9m34-28.11(-1.6)
5m53(+1.5)-35m31-2:26.58 5m19(+0.5)-32m09-2:24.41 5m46(+1.9)-26m35-2:24.64 4m75(+2.2)-43m03-2:39.14 4m98(+0.2)-35m91-2:42.81 4m63(+1.3)-32m56-2:39.31 4m79(+0.8)-36m42-2:47.70 4m43(+0.6)-NM-2:38.99
e [5UN 1104 BHK 894 | 4K 804 | FHE AR [HREESN 225 | BELER RSN 165 PHRAR 145
P HZFT4—IEK [D5UN 11755 7R 6758 | ZEHK 385 IR 1545 ][4k 9.5 | i) K (BRI ESN [ EES TN TR
TR [D5UN P 3TN 6| BHK 5|4 AR 445
LFRE FLPN 248.5 81 [EHAER 14855 | B HOK 13253 | A IR 89 i |7 % A 31 | BB R 255 | B HER 2253 | R 175

LB GReK Sk NMiftdkia L




	成績　東海インカレ2016全成績.pdfから挿入したしおり
	1.東海IC表紙2016
	2.サイン帳
	3.リザルト


